

SEAT NO	NAME	CREDITS	COURSE I - 2.5	COURSE II - 2.5	COURSE III - 3	COURSE IV - 2.5	COURSE V - 2.5	COURSE VI - 3	COURSE VII - 2	COURSE VIII - 2	TOTAL CREDIT-20			
MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	RSLT			
CENTRE	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	MARKS	äC äCG GPA			
51: BIOTECHNOLOGY		COURSE I :USBT601	:BIOCHEMISTRY					COURSE II :USBT602	:INDUSTRIAL MICROBIOLOGY					
		COURSE III:USBTP05	:PRACTICAL OF USBT601 TO USBT602											
		COURSE IV :USBT603	:PHARMACOLOGY AND NEUROCHEMISTRY					COURSE V :USBT604	:ENVIRONMENTAL BIOTECHNOLOGY					
		COURSE VI :USBTP06	:PRACTICAL OF USBT603 TO USBT604											
1: AGRIBIOTECHNOLOGY		COURSE VII:USACBT601	:AGRIBIOTECHNOLOGY					COURSE VIII :USACBT6P1	:AGRIBIOTECHNOLOGY					
3034967 /ANSARI SHABANA KHATOON ISLAM ALI NAJAMA KHATOON	DOMBIVLI	88	2.5 O 10 25.00		80	2.5 O 10 25.00		89	3 O 10 30		86	2.5 O 10 25.00		P
Semester I -CREDIT:20 GP:184.00 SGP1: 9.20				Semester II -CREDIT :20 GP:200.00 SGP2:10.00				Semester III -CREDIT :20 GP:200.00 SGP3:10.00						
Semester IV -CREDIT:20 GP:200.00 SGP4:10.00				Semester V -CREDIT :20 GP:200.00 SGP5:10.00				FINAL CGPA 9.87						
3034968 BHURAVANE GAURAV JAYWANT JYOTI	DOMBIVLI	44	2.5 D 4 10.00		64	2.5 A 8 20.00		63	3 A 8 24		56	2.5 B+ 7 17.50		P
Semester I -CREDIT:20 GP:108.00 SGP1: 5.40				Semester II -CREDIT :20 GP:124.00 SGP2: 6.20				Semester III -CREDIT :20 GP:118.00 SGP3: 5.90						
Semester IV -CREDIT:20 GP:150.00 SGP4: 7.50				Semester V -CREDIT :20 GP:160.60 SGP5: 8.03				Semester VI -CREDIT :20 SGP6: 7.13						
3034969 /CHALKE BHAKTI BALARAM SUNANDA	DOMBIVLI	90	2.5 O 10 25.00		80	2.5 O 10 25.00		62	3 A 8 24		88	2.5 O 10 25.00		P
Semester I -CREDIT:20 GP:112.00 SGP1: 5.60				Semester II -CREDIT :20 GP:114.00 SGP2: 5.70				Semester III -CREDIT :20 GP: 98.00 SGP3: 4.90						
Semester IV -CREDIT:20 GP:134.00 SGP4: 6.70				Semester V -CREDIT :20 GP:166.60 SGP5: 8.33				Semester VI -CREDIT :20 SGP6: 9.00						
3034970 /CHAUHAN PRATIKSHA AKHILESH PREMA DEVI	DOMBIVLI	88	2.5 O 10 25.00		78	2.5 O 10 25.00		84	3 O 10 30		86	2.5 O 10 25.00		P
Semester I -CREDIT:20 GP:154.00 SGP1: 7.70				Semester II -CREDIT :20 GP:182.00 SGP2: 9.10				Semester III -CREDIT :20 GP:188.00 SGP3: 9.40						
Semester IV -CREDIT:20 GP:198.00 SGP4: 9.90				Semester V -CREDIT :20 GP:191.60 SGP5: 9.58				Semester VI -CREDIT :20 SGP6:10.00						
3034971 DEHADE AJAY RAMESH VANDANA	DOMBIVLI	78	2.5 O 10 25.00		76	2.5 A+ 9 22.50		64	3 A 8 24		82	2.5 O 10 25.00		P
Semester I -CREDIT:20 GP:114.00 SGP1: 5.70				Semester II -CREDIT :20 GP:144.00 SGP2: 7.20				Semester III -CREDIT :20 GP:128.00 SGP3: 6.40						
Semester IV -CREDIT:20 GP:166.00 SGP4: 8.30				Semester V -CREDIT :20 GP:166.60 SGP5: 8.33				Semester VI -CREDIT :20 SGP6: 9.03						
3034972 GHAVRE NINAD BHAGIRATH SAMPADA	DOMBIVLI	90	2.5 O 10 25.00		80	2.5 O 10 25.00		73	3 A+ 9 27		86	2.5 O 10 25.00		P
Semester I -CREDIT:20 GP:108.00 SGP1: 5.40				Semester II -CREDIT :20 GP:110.00 SGP2: 5.50				Semester III -CREDIT :20 GP:136.00 SGP3: 6.80						
Semester IV -CREDIT:20 GP:126.00 SGP4: 6.30				Semester V -CREDIT :20 GP:163.00 SGP5: 8.15				Semester VI -CREDIT :20 SGP6: 9.15						
3034973 /HAZARE YOGITA CHANGDEV CHITRABAI	DOMBIVLI	80	2.5 O 10 25.00		74	2.5 A+ 9 22.50		82	3 O 10 30		86	2.5 O 10 25.00		P
Semester I -CREDIT:20 GP:122.00 SGP1: 6.10				Semester II -CREDIT :20 GP:138.00 SGP2: 6.90				Semester III -CREDIT :20 GP:160.00 SGP3: 8.00						
Semester IV -CREDIT:20 GP:174.00 SGP4: 8.70				Semester V -CREDIT :20 GP:170.00 SGP5: 8.50				Semester VI -CREDIT :20 SGP6: 8.88						
3034974 /KALE PUJA KAILAS SUMAN	DOMBIVLI	90	2.5 O 10 25.00		78	2.5 O 10 25.00		73	3 A+ 9 27		84	2.5 O 10 25.00		P
Semester I -CREDIT:20 GP:116.00 SGP1: 5.80				Semester II -CREDIT :20 GP:118.00 SGP2: 5.90				Semester III -CREDIT :20 GP:138.00 SGP3: 6.90						
Semester IV -CREDIT:20 GP:134.00 SGP4: 6.70				Semester V -CREDIT :20 GP:171.60 SGP5: 8.58				Semester VI -CREDIT :20 SGP6: 8.90						

/ - FEMALE, # - 0.229 ,@ - 0.5042,@ - 0.5044A ,* - 5045 , ADC - ADMISSION CANCELLED, RR-RESERVED, --:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT , F - UNSUCCESSFUL, P - SUCCESSFUL,
NULL-NULL & VOID, G:grade GP:grade points C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
äC:sum of credit points GPA: äCG /äC

MARKS	: >=80	>=70 and <80	>=60 and <70	>=55 and <60	>=50 and <55	>=45 and <50	>=40 and <45	<40
GRADE	: O	A+	A	B+	B	C	D	F
GRADE POINT	: 10	9	8	7	6	5	4	0

SEAT NO	NAME	CREDITS	COURSE I - 2.5	COURSE II - 2.5	COURSE III - 3	COURSE IV - 2.5	COURSE V - 2.5	COURSE VI - 3	COURSE VII - 2	COURSE VIII - 2	TOTAL CREDIT-20																													
		MARKS	COURSE-I				COURSE-II			COURSE-III			COURSE-IV																											
			100/40	C	G	GP	C*GP	100/40	C	G	GP	C*GP	100/40	C	G	GP	C*GP	100/40	C	G	GP	C*GP	àC	RSLT																
	CENTRE	MARKS	COURSE-V				COURSE-VI			COURSE-VII			COURSE-VIII																											
			100/40	C	G	GP	C*GP	100/40	C	G	GP	C*GP	100/40	C	G	GP	C*GP	100/40	C	G	GP	C*GP	àC																	
51: BIOTECHNOLOGY			COURSE I :USBT601	:BIOCHEMISTRY					COURSE II :USBT602	:INDUSTRIAL MICROBIOLOGY																														
			COURSE III:USBT605	:PRACTICAL OF USBT601 TO USBT602																																				
			COURSE IV :USBT603	:PHARMACOLOGY AND NEUROCHEMISTRY					COURSE V :USBT604	:ENVIRONMENTAL BIOTECHNOLOGY																														
			COURSE VI :USBT606	:PRACTICAL OF USBT603 TO USBT604																																				
1: AGRIBIOTECHNOLOGY			COURSE VII:USACBT601	:AGRIBIOTECHNOLOGY					COURSE VIII :USACBT6P1	:AGRIBIOTECHNOLOGY																														
3034983	/PATIL PAYAL SHARAD SHWETA DOMBIVLI	92	2.5	O	10	25.00		82	2.5	O	10	25.00		75	3	A+	9	27		86	2.5	O	10	25.00														P		
		86	2.5	O	10	25.00		92	3	O	10	30		66	2	A	8	16.00		92	2	O	10	20	20.00													193.00	9.65	
	Semester I -CREDIT:20 GP:146.00 SGP1: 7.30							Semester II -CREDIT :20 GP:178.00 SGP2: 8.90						Semester III -CREDIT :20 GP:180.00 SGP3: 9.00																										
	Semester IV -CREDIT:20 GP:194.00 SGP4: 9.70							Semester V -CREDIT :20 GP:197.60 SGP5: 9.88						Semester VI -CREDIT :20 SGP6: 9.65						FINAL CGPA	9.07																			
3034984	PATWARDHAN ABHISHEK PANKAJ PRANJ ALI DOMBIVLI	90	2.5	O	10	25.00		80	2.5	O	10	25.00		52	3	B	6	18		90	2.5	O	10	25.00															P	
		86	2.5	O	10	25.00		76	3	A+	9	27		70	2	A+	9	18.00		77	2	O	10	20	20.00														183.00	9.15
																				@3																				
	Semester I -CREDIT:20 GP:136.00 SGP1: 6.80							Semester II -CREDIT :20 GP:122.00 SGP2: 6.10						Semester III -CREDIT :20 GP:148.00 SGP3: 7.40																										
	Semester IV -CREDIT:20 GP:170.00 SGP4: 8.50							Semester V -CREDIT :20 GP:185.60 SGP5: 9.28						Semester VI -CREDIT :20 SGP6: 9.15						FINAL CGPA	7.87																			
3034985	/PUNYARTHI RUTIKA VIJAY NEHA DOMBIVLI	92	2.5	O	10	25.00		82	2.5	O	10	25.00		50	3	B	6	18		88	2.5	O	10	25.00															P	
		84	2.5	O	10	25.00		70	3	A+	9	27		68	2	A	8	16.00		62	2	A	8	16	20.00														177.00	8.85
	Semester I -CREDIT:20 GP:120.00 SGP1: 6.00							Semester II -CREDIT :20 GP:138.00 SGP2: 6.90						Semester III -CREDIT :20 GP:136.00 SGP3: 6.80																										
	Semester IV -CREDIT:20 GP:164.00 SGP4: 8.20							Semester V -CREDIT :20 GP:161.60 SGP5: 8.08						Semester VI -CREDIT :20 SGP6: 8.85						FINAL CGPA	7.47																			
3034986	/RAWAL RIDDHI RAJESH RASHMI DOMBIVLI	90	2.5	O	10	25.00		80	2.5	O	10	25.00		55	3	B+	7	21		88	2.5	O	10	25.00															P	
		86	2.5	O	10	25.00		74	3	A+	9	27		70	2	A+	9	18.00		61	2	A	8	16	20.00														182.00	9.10
	Semester I -CREDIT:20 GP:152.00 SGP1: 7.60							Semester II -CREDIT :20 GP:154.00 SGP2: 7.70						Semester III -CREDIT :20 GP:138.00 SGP3: 6.90																										
	Semester IV -CREDIT:20 GP:164.00 SGP4: 8.20							Semester V -CREDIT :20 GP:194.60 SGP5: 9.73						Semester VI -CREDIT :20 SGP6: 9.10						FINAL CGPA	8.21																			
3034987	/SAKPAL VAISHNAVI KISHOR SANGITA DOMBIVLI	72	2.5	A+	9	22.50		52	2.5	B	6	15.00		68	3	A	8	24		54	2.5	B	6	15.00															P	
		48	2.5	C	5	12.50		68	3	A	8	24		42	2	D	4	8.00		60	2	A	8	16	20.00														137.00	6.85
	Semester I -CREDIT:20 GP:110.00 SGP1: 5.50							Semester II -CREDIT :20 GP:134.00 SGP2: 6.70						Semester III -CREDIT :20 GP:142.00 SGP3: 7.10																										
	Semester IV -CREDIT:20 GP:164.00 SGP4: 8.20							Semester V -CREDIT :20 GP:192.00 SGP5: 9.60						Semester VI -CREDIT :20 SGP6: 6.85						FINAL CGPA	7.33																			
3034988	/SANAP AKSHATA DATTA SARALA DOMBIVLI	78	2.5	A+	9	22.50		70	2.5	A+	9	22.50		50	3	B	6	18		82	2.5	O	10	25.00															P	
		84	2.5	O	10	25.00		60	3	A	8	24		50	2	B	6	12.00		35	2	D	4	8	20.00														157.00	7.85
																				*																				
	Semester I -CREDIT:20 GP:106.00 SGP1: 5.30							Semester II -CREDIT :20 GP:144.00 SGP2: 7.20						Semester III -CREDIT :20 GP:156.00 SGP3: 7.80																										
	Semester IV -CREDIT:20 GP:162.00 SGP4: 8.10							Semester V -CREDIT :20 GP:136.00 SGP5: 6.80						Semester VI -CREDIT :20 SGP6: 7.85						FINAL CGPA	7.18																			
3034989	/SANTE VIDHI CHANDRAKANT POONAM DOMBIVLI	84	2.5	O	10	25.00		76	2.5	A+	9	22.50		68	3	A	8	24		66	2.5	A	8	20.00																P
		80	2.5	O	10	25.00		68	3	A	8	24		42	2	D	4	8.00		57	2	B+	7	14	20.00														162.50	8.13
	Semester I -CREDIT:20 GP:162.00 SGP1: 8.10							Semester II -CREDIT :20 GP:180.00 SGP2: 9.00						Semester III -CREDIT :20 GP:170.00 SGP3: 8.50																										
	Semester IV -CREDIT:20 GP:182.00 SGP4: 9.10							Semester V -CREDIT :20 GP:174.60 SGP5: 8.73						Semester VI -CREDIT :20 SGP6: 8.13						FINAL CGPA	8.59																			
3034990	/SARANG TANVI ABHAY APURVA DOMBIVLI	72	2.5	A+	9	22.50		78	2.5	O	10	25.00		69	3	A	8	24		78	2.5	O	10	25.00																P
		84	2.5	O	10	25.00		70	3	A+	9	27		48	2	C	5	10.00		45	2	C	5	10	20.00														168.50	8.43
	Semester I -CREDIT:20 GP:122.00 SGP1: 6.10							Semester II -CREDIT :20 GP:148.00 SGP2: 7.40						Semester III -CREDIT :20 GP:146.00 SGP3: 7.30																										
	Semester IV -CREDIT:20 GP:162.00 SGP4: 8.10							Semester V -CREDIT :20 GP:172.60 SGP5: 8.63						Semester VI -CREDIT :20 SGP6: 8.43						FINAL CGPA	7.66																			

/ - FEMALE, # - 0.229 ,@ - 0.5042,@ - 0.5044A ,* - 5045 , ADC - ADMISSION CANCELLED, RR-RESERVED, --:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT , F - UNSUCCESSFUL, P - SUCCESSFUL,
NULL-NULL & VOID, G:grade GP:grade points C:credits CP:credit points àCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
àC:sum of credit points GPA: àCG /àC
MARKS : >=80 >=70 and <80 >=60 and <70 >=55 and <60 >=50 and <55 >=45 and <50 >=40 and <45 <40
GRADE : O A+ A B+ B C D F
GRADE POINT : 10 9 8 7 6 5 4 0

SEAT NO	NAME	CREDITS	COURSE I - 2.5	COURSE II - 2.5	COURSE III - 3	COURSE IV - 2.5	COURSE V - 2.5	COURSE VI - 3	COURSE VII - 2	COURSE VIII - 2	TOTAL CREDIT-20													
		MARKS	100/40	C G GP C*GP	100/40	C G GP C*GP	100/40	C G GP C*GP	100/40	C G GP C*GP	100/40	C G GP C*GP	âC	âCG	RSLT	âC	âCG	GPA						
	CENTRE	MARKS	100/40	C G GP C*GP	100/40	C G GP C*GP	100/40	C G GP C*GP	100/40	C G GP C*GP	100/40	C G GP C*GP	âC	âCG	GPA									
51:	BIOTECHNOLOGY	COURSE I :USBT601	:BIOCHEMISTRY			COURSE II :USBT602			:INDUSTRIAL MICROBIOLOGY															
		COURSE III:USBT605	:PRACTICAL OF USBT601 TO USBT602			COURSE V :USBT604			:ENVIRONMENTAL BIOTECHNOLOGY															
		COURSE IV :USBT603	:PHARMACOLOGY AND NEUROCHEMISTRY			COURSE VIII :USACBT6P1			:AGRIBIOTECHNOLOGY															
		COURSE VI :USBT606	:PRACTICAL OF USBT603 TO USBT604																					
1:	AGRIBIOTECHNOLOGY	COURSE VII:USACBT601	:AGRIBIOTECHNOLOGY																					
3034991	/SAWANT YOGITA PRAKASH PRAMILA DOMBIVLI	84	2.5	O	10	25.00	78	2.5	O	10	25.00	51	3	B	6	18	56	2.5	B+	7	17.50	P		
		78	2.5	O	10	25.00	64	3	A	8	24	48	2	C	5	10.00	42	2	D	4	8	20.00	152.50	7.63
		Semester I -CREDIT:20 GP:118.00 SGP1: 5.90			Semester II -CREDIT :20 GP:118.00 SGP2: 5.90			Semester III -CREDIT :20 GP:116.00 SGP3: 5.80																
		Semester IV -CREDIT:20 GP:136.00 SGP4: 6.80			Semester V -CREDIT :20 GP:147.00 SGP5: 7.35			Semester VI -CREDIT :20 SGP6: 7.63			FINAL CGPA 6.56													
3034992	/SINGH MADHU RANGBAHADUR MEERA DOMBIVLI	88	2.5	O	10	25.00	80	2.5	O	10	25.00	95	3	O	10	30	86	2.5	O	10	25.00	P		
		98	2.5	O	10	25.00	88	3	O	10	30	78	2	O	10	20.00	92	2	O	10	20	20.00	200.00	10.00
		Semester I -CREDIT:20 GP:196.00 SGP1: 9.80			Semester II -CREDIT :20 GP:200.00 SGP2:10.00			Semester III -CREDIT :20 GP:200.00 SGP3:10.00																
		Semester IV -CREDIT:20 GP:200.00 SGP4:10.00			Semester V -CREDIT :20 GP:197.60 SGP5: 9.88			Semester VI -CREDIT :20 SGP6:10.00			FINAL CGPA 9.95													
3034993	/TADKE ANUSHREE SAROJKUMAR ARCHAN A DOMBIVLI	80	2.5	O	10	25.00	88	2.5	O	10	25.00	88	3	O	10	30	82	2.5	O	10	25.00	P		
		86	2.5	O	10	25.00	90	3	O	10	30	64	2	A	8	16.00	92	2	O	10	20	20.00	196.00	9.80
		Semester I -CREDIT:20 GP:168.00 SGP1: 8.40			Semester II -CREDIT :20 GP:174.00 SGP2: 8.70			Semester III -CREDIT :20 GP:180.00 SGP3: 9.00																
		Semester IV -CREDIT:20 GP:188.00 SGP4: 9.40			Semester V -CREDIT :20 GP:197.60 SGP5: 9.88			Semester VI -CREDIT :20 SGP6: 9.80			FINAL CGPA 9.20													
3034994	/TAJNE TEJASWINI PANDIT VANDANA DOMBIVLI	78	2.5	O	10	25.00	74	2.5	A+	9	22.50	50	3	B	6	18	82	2.5	O	10	25.00	P		
		84	2.5	O	10	25.00	58	3	B+	7	21	62	2	A	8	16.00	40	2	D	4	8	20.00	160.50	8.03
		Semester I -CREDIT:20 GP:110.00 SGP1: 5.50			Semester II -CREDIT :20 GP:132.00 SGP2: 6.60			Semester III -CREDIT :20 GP:120.00 SGP3: 6.00																
		Semester IV -CREDIT:20 GP:136.00 SGP4: 6.80			Semester V -CREDIT :20 GP:166.60 SGP5: 8.33			Semester VI -CREDIT :20 SGP6: 8.03			FINAL CGPA 6.88													
3034995	/TIWARI DEEPA ARVIND SHAKUNTALA DOMBIVLI	88	2.5	O	10	25.00	80	2.5	O	10	25.00	87	3	O	10	30	86	2.5	O	10	25.00	P		
		96	2.5	O	10	25.00	90	3	O	10	30	78	2	O	10	20.00	85	2	O	10	20	20.00	200.00	10.00
		Semester I -CREDIT:20 GP:168.00 SGP1: 8.40			Semester II -CREDIT :20 GP:178.00 SGP2: 8.90			Semester III -CREDIT :20 GP:172.00 SGP3: 8.60																
		Semester IV -CREDIT:20 GP:188.00 SGP4: 9.40			Semester V -CREDIT :20 GP:197.60 SGP5: 9.88			Semester VI -CREDIT :20 SGP6:10.00			FINAL CGPA 9.20													
3034996	/VALVI ANJALI AMARSING SUMAN DOMBIVLI	76	2.5	A+	9	22.50	52	2.5	B	6	15.00	58	3	B+	7	21	54	2.5	B	6	15.00	P		
		48	2.5	C	5	12.50	72	3	A+	9	27	40	2	D	4	8.00	60	2	A	8	16	20.00	137.00	6.85
		Semester I -CREDIT:20 GP:118.00 SGP1: 5.90			Semester II -CREDIT :20 GP:134.00 SGP2: 6.70			Semester III -CREDIT :20 GP:136.00 SGP3: 6.80																
		Semester IV -CREDIT:20 GP:142.00 SGP4: 7.10			Semester V -CREDIT :20 GP:157.00 SGP5: 7.85			Semester VI -CREDIT :20 SGP6: 6.85			FINAL CGPA 6.87													
3034997	/VERMA AARYA MANOJ SEEMA DOMBIVLI	90	2.5	O	10	25.00	78	2.5	O	10	25.00	69	3	A	8	24	86	2.5	O	10	25.00	P		
		84	2.5	O	10	25.00	69	3	A	8	24	52	2	B	6	12.00	52	2	B	6	12	20.00	172.00	8.60
		Semester I -CREDIT:20 GP:114.00 SGP1: 5.70			Semester II -CREDIT :20 GP:114.00 SGP2: 5.70			Semester III -CREDIT :20 GP:126.00 SGP3: 6.30																
		Semester IV -CREDIT:20 GP:140.00 SGP4: 7.00			Semester V -CREDIT :20 GP:159.60 SGP5: 7.98			Semester VI -CREDIT :20 SGP6: 8.60			FINAL CGPA 6.88													

/ - FEMALE, # - 0.229 ,@ - 0.5042,@ - 0.5044A ,* - 5045 , ADC - ADMISSION CANCELLED, RR-RESERVED, --:Fails in Theory or Practical,RPV - PROVISIONAL, RCC - 0.5050, A,ABS - ABSENT , F - UNSUCCESSFUL, P - SUCCESSFUL;
NULL=NULL & VOID, G:grade GP:grade points C:credits CP:credit points âC:sum of product of credits & grades, Internal Marks are Provisional as per R.8668

âC:sum of credit points GPA: âC /âC

MARKS : >=80 >=70 and <80 >=60 and <70 >=55 and <60 >=50 and <55 >=45 and <50 >=40 and <45 <40
GRADE : O A+ A B+ B C D F
GRADE POINT : 10 9 8 7 6 5 4 0

